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QUESTION 1

Where is a hub specified in the OSI model?
A. Session layer

B. Physical layer

C. Data Link layer

D. Application layer

Correct Answer: B

QUESTION 2

Which class of IP address has the most host addresses available by default?
A A

B.B

Cc.C

D.Aand B

Correct Answer: A

QUESTION 3

Consider a wireless access point with mode=ap-bridge. What is the maximum number of concurrent clients that can
connect to it?

A. 2007
B. 2012
C. 2048
D. 1024

Correct Answer: A

QUESTION 4
Which statements are true regarding ICMP packets?

1.
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They acknowledge receipt of a TCP segment.
2.

They guarantee datagram delivery.

3.

They can provide hosts with information about network problems.
4.

They are encapsulated within IP datagrams.
A. 1 only

B.2and3

C.3and 4

D.2,3and 4

Correct Answer: C

QUESTION 5

Which layer 4 protocol is used for a Telnet connection?
A IP

B. TCP

C. TCP/IP

D. UDP

Correct Answer: B

QUESTION 6

Bridging loops can be avoided by enabling:
A. RSTP protocol

B. STP protocol

C. Connection tracking

D. UDP filter

E. ICMP filter

Correct Answer: AB
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QUESTION 7

What kind of users are listed in the "/user" menu?
A. router users

B. wireless users

C. Hot-Spot users

D. pptp users

Correct Answer: A

QUESTION 8

Router has wireless and ethernet client interfaces, all client interfaces are bridged. To create a DHCP service for all
clients, DHCP server must be configured on:

A. Ethernet and wireless interfaces

B. DHCP service is not possible in this setup
C. Every bridge port

D. Only on the bridge interface

Correct Answer: D

QUESTION 9

From which of the following locations can you obtain Winbox?
A. Router\\'s webpage

B. Files menu in your router

C. Via the console cable

D. mikrotik.com

Correct Answer: AD

QUESTION 10

DHCP server is configured on a router\\'s etherl interface. IP address 192.168.0.100/24 is assigned to the interface.
Possible IP pools, that can be used by this DHCP server, are:

A.192.168.0.1-192.168.0.255
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B. 192.169.0.1-192.169.0.254
C. 192.168.0.1-192.168.0.99 , 192.168.0.101-192.168.0.254
D. 192.168.0.1-192.168.0.14

Correct Answer: C

QUESTION 11

It is required to make a web server on a private LAN visible on the Public Internet. Only the web server port should be
visible to the public. Which of the following configuration steps must be met. (select all that apply)

A. Public IP address of the webserver must be installed on the NAT Router

B. in ip firewall NAT there should be a dst-nat between the public ip of the router and the private ip of the webserver
C. Connection Tracking must be enabled on NAT router

D. A route between the NAT Router and the webserver must exist

E. LAN address of the webserver should be routable on the internet

Correct Answer: BD

QUESTION 12

If your router is facilitating a CSU/DSU, which of the following commands do you need to use to provide the router with a
64000bps serial link?

A. RouterA(config)#bandwidth 64

B. RouterA(config-if)#bandwidth 64000
C. RouterA(config-if)#clock rate 64

D. RouterA(config-if)#clock rate 64000

Correct Answer: D

QUESTION 13

Which of the following is used in standard 802.11 wireless networks?
A. CSMA/CA

B. CDMA

C.FDD

D. CSMA/CD
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Correct Answer: A

QUESTION 14

Is ARP used in the IPv6 protocol?
A. True

B. False

Correct Answer: B

QUESTION 15

What is the default TTL (time to live) on a router that an IP packet can experience before it will be discarded?
A. 60

B. 30

C.1

D. 64

Correct Answer: D
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